CAN Analyzer Z2EZ AdA_gdA~
CAN Analyzer Z2EF (2JA} Modbus ASCII-& AF&3H)
SJA} Modbus ASCIIo| gk RS2327 & A& Y S4loA 49 Framel® o] Fojxl HolHE &,
Al Al Balo] ok S 95t dlo]E Frameol Start, End ¥ LRC #<=2 F713ch. =3 $41 Ald+=

Hex dlo]H #t& ASCII gto= wgstoj(dely ol 2v) T7h) B, 441 Alelli= ASCI k& Hex
deoly gtom= wWilato] Az gict
< CAN Analyzer®] USB &4l WH > ——--mmmmmmmmm oo
AF@ CDO| Tlufo] s mejoluE A 7bE COM Port7h A4 H T
et ARgAAME Serial B4 ZRIRS AYsEo] sy Hed, ohdfsh g AW Fdste] XES
gy,
Baudrate : 460800
Parity ' No Parity
ByteSize : 8
StopBits : One Stop Bit
< %, 4l Frame 7% >
Start Command Code | Data LRC End
“01” ~ “06” YXX XX XX Xx7 | fxx” 0x0D 0x0A
1 Byte 2 Bytes 2 Bytes 2 Bytes
Command Code
ARz €7 01 | CAN Analyzer®] CAN s2l¥d $7 44 AWE A+
Ak 27 03 CAN Analyzer?] CAN SA13#H 374 A4 AHE &
Hlelg 227 04 | AF&A7F AA S HolHE CAN ol Hyl
41 ON/OFF 474 |05 |<Z2% CAN ®Wolx F21g do]EHE PC Fo d2@=| <]
o] ON/OFF 44
CAN chip reset 06 CAN Analyzer®] CAN chip2 #AlstH x7]3 Al
(MCP2510 chip)

<LRC # 8= H¥ >
1) Command Code ¢} Data F-3i-9] Hex 3= EF d¥ (= SUM)
2) OxFF - SUM ( = 1’ complement)
3) 99 A7 3k + 1 (=2’ complement)



CAN Analyzer T2 EZ AW _gdA]~
D AA% ¢71 338(0x01)

START CODE DATA LRC END

“01” “FE~ 0x0D 0x0A

2) AARA% 7] ¥R A SH(0x81)

START CODE DATA LRC END

“81” 22 bytes “xx” 0x0D 0x0A

DATA(11 bytes — Hex Value )

1 2 3 4 5) 6 7 8 9 10 |11

CNF1 | CNF2 | CNF3 | MASK1 | MASKZ | MASK3 | MASK4 | AR1 | ARZ | AR3 | AR4

CNFx : MCP2510¢] CNF1,2,3 #A~H #
o 2] if(CNF3&0x80) 2.0B Protocol
else 2.0A Protocol
MASKx : AA o9l 4 MASK AElE YepdT
ARx : CAN o] 425 CAN Analyzer Node2] A4 = o]9l= Arbitor ElS YEFAL
if(AR4&0x01) A& FAEE=

Protocol | $A1&% CNF1 CNF2 CNF3
2.0A 1M 0x00 0x90 0x02
2.0A 500K 0x01 0x90 0x02
2.0A 250K 0x03 0x90 0x02
2.0A 200K 0x04 0x90 0x02
2.0A 125K 0x07 0x90 0x02
2.0A 100K 0x09 0x90 0x02
2.0A 50K 0x13 0x90 0x02
2.0A 40K 0x18 0x90 0x02
2.0A 25K Ox27 0x90 0x02
2.0A 20K Ox31 0x90 0x02
2.0B 1M 0x00 0x90 0x82
2.0B 500K 0x01 0x90 0x82
2.0B 250K 0x03 0x90 0x82
2.0B 200K 0x04 0x90 0x82
2.0B 125K 0x07 0x90 0x82
2.0B 100K 0x09 0x90 0x82




CAN Analyzer T2 EZ AW _gdA]x

2.0B 50K 0x13 0x90 0x82
2.0B 40K 0x18 0x90 0x82
2.0B 20K 0x27 0x90 0x82
2.0B 20K 0x31 0x90 0x82

MASKx : AA e 541 MASK A& YERAT
MASK bit7} 1o]® &%= <=4l Arbitor bits A =3}
ARx : CAN "ol 4A4% CAN Analyzer Node®] A A% o] Arbitor AE]E YERATE

2.0A Protocol¢l 7% MASK1, MASK2, AR1, AR2¢] T4 Eo]t}.

7 B ] 4 3 2 1 1]
026 | 1027 | D26 | 1025 | 1024 [mek! D22 a3
[k [k [ (i (i (i (i W

7 & & 4 3 2 1 a
O30 o018 18 Regansed
s iy s

2.0B Protocol?]l 7-$- MASK1,2,3,4, AR1,2,3,49] T4

7 B ] 4 3 2 1 1]
026 | 1027 | D26 | 1025 | 1024 [mek! D22 a3
[k [k [ (i (i (i (i W

7 [ & 4 a 2 1 1]
030 | D18 | D18 | 107 M6 | 1045 | 1IDM4 | I3
s na et e & W L5} W

T & 5 4 3 2 1 0
o2 1011 010 09 [n:] D7 (533 a3

I'w & W W W W Ry W

7 ] ] 4 a 2 1 1]
104 [m [ o1 100 Fegarwed
k] & e (3 s M




3) CAN FAldo]g o] th3t -3 2(0x82)

CAN Analyzer T2 EZ AW _gdA]~

START CODE DATA LRC END

“82” 10 bytes + Data Length=*2 “xx” 0x0D 0x0A
DATAC( 5bytes+ Data Length : Hex Value )
1 2 3 4 5 Data Length (O~8bytes)
S1 S2 S3 S4 SH
S1: If(S1 & 0x80)

Extended mode(CAN 2.0B Protocol)
Else
Standard mode(CAN 2.0A Protocol)
Data Length = S1 & Ox7F
S2 @ Arbitl
S3 @ if(extended mode){ Arbit2 }  else{ Arbit2 & OxEO }
S4 :if(extended mode){ Arbit3 }  else{ OxFF }
S5 if(extended mode){ Arbit4 & OxF8 }  else{ OxFF }
4) ARz 2271 ¥H(0x03)
START CODE DATA LRC END
o “03” 22 bytes “xx” 0x0D Ox0A
DATA(11 bytes — Hex Value) : A%k ¢17] &9 v&3 P}
1 2 3 4 5 6 7 8 9 10 11
CNF1 | CNF2 | CNF3 | MASK1 | MASKZ | MASK3 | MASK4 | AR1 AR2 AR3 AR4
5) ARzt 2] wWH g -3H(0x83)
START CODE DATA LRC END
“83” 22 bytes “xx” 0x0D 0x0A

DATA(11 bytes — Hex Values)
1 2 3 4 5 6 7 8 9 10 11
CNF1 | CNF2 | CNF3 | MASK1 | MASKZ | MASK3 | MASK4 | AR1 AR2 AR3 AR4

CNFx : MCP2510 ¢] CNF1,2,3 #l#~H
MASKx : A4 ¥ o) 3l= 4 MASK A& YERATH

ARx : CAN "ol 445 CAN Analyzer Node®] A A% o]l Arbitor AE|E veERATE

if(AR4 & 0x01) A5 FARE

else & F$AELE




5) dlolg 2~7] ¥ (0x04)

CAN Analyzer T2 EZ AW _gdA]~

START CODE DATA LRC END
“04” 10~26bytes “xx” 0x0D 0x0A
DATA( 5bytes+ Data Length — Hex Value)
1 2 3 4 5 Data Length (O~8bytes)
T1 T2 T3 T4 Th
T1: A=Y = =T1 & 0x40
dlo]e] de] =TI & 0xOF
T2 : tArbitor1(1%-8 Arbitor)
T3 : tArbitor2
T4 : tArbitor3
T5H @ tArbitor4
6) Hlolg 27] PR 3 3H(0x84)
START CODE | DATA LRC END
“84” 10 bytes + Data Length=*2 “xx” 0x0D 0x0A
DATA(Sbytes+ Data Length — Hex Value)
1 2 3 4 5 Data Length (0~8bytes)
R1 R2 R3 R4 R5
Rl: As$9 E= =RI1 & 0x40
dlo]el Zeo] =R1 & 0xOF
R2 : tArbitor1(%1 %8 Arbitor)
R3 : tArbitor?2
R4 : tArbitor3
R5 @ tArbitor4
7) 4 ON 24 3% (0x05)
START CODE | DATA LRC END
“05” “01” “FA” 0x0D 0x0A
8) 41 ON A7 & g §H(0x85)
START CODE | DATA LRC END
“85” “01” “TA” 0x0D 0x0A




9) 41 OFF 474 4% (0x05)

CAN Analyzer T2 EZ AW _gdA]~

START CODE | DATA LRC END

“05” “00” “FR” 0x0D 0x0A
10) =41 OFF AA W& g §H(0x85)
START CODE | DATA LRC END

“35” “00” “7B” 0x0D 0x0A
11) MCP2510 RESET %3 (0x06)
START CODE | DATA LRC END
“06” “00” “FA” 0x0D 0x0A
12) MCP2510 RESET B ®ej] tgt 3 3(0x86)
START CODE | DATA LRC END
“86” “00” “7TA” 0x0D 0x0A




